\J P CONTROL

VALVES

JEH /| JEK Series

Pneumatic Actuator

- AR B

( . JML Series

i

Manual Override

: - ) L "i ’ /'; |

"._.“ 4 jF'. ,l
’ ﬁ y 4018 f
d;
I L
"“j



01

JDV

| @ 2l CONTROL

VALVES

Pneumatic Actuator

JEH/JEK Series pneumatic actuators are compact double rack and pinion designs
used in ball, butterfly, plug and other quarter-turn valves to reach the control
purpose. Precise machining and strengthened surface treatment provides accurate
and reliable control function suited in various industrial applications

JEH/EK RFISENNITRR R —FABENIITHIBUTES, SRS HER R 5, 21345
TR T RSEWRIREAIRE, BRI Z AT ZM T IME TRIBKE . 1R, 43
@Al 1/4 FRYE I TRIEEHZHI IR




PRODUCT FEATURES =43t

Type
B

Pneumatic Twin Piston Actuator
JEH type=Double Acting
JEK type=Single Acting(Spring Return)

JEH/JEK Series

WEEEF L
JEH & = EAS
JEK B! = B{EfSE GEERE)

Construction

Rack and pinion design.

ERERN T

Bearing: Easy sliding plastic + O-Ring
+C-PTFE

LR
m:(::gce Actuator/Valve: 4 or 8 female SETSEELL: DINISO 5211 PART 142, Afk E
. B 435 8 FLIL AR EE
Specification noesin the body conforms to DIN/ISO 5211, 4. fic#e DIN 3337
Interface Actuator/Solenoid Valve: NAMUR LSS EHlEELE: NAMUR
Interface Actuator/Signal Unit: NAMUR
Body: Aluminum Hard Anodized
. g Ak BEE
Sl e M. 582 + FARRILE
N . & . oA
T Shaft: Nickel Plated Carbon Steel '\ﬁg' folokd
R Omaket NBR D SR
: R BB

BN BZREAR +O BUIF + BB EF R

Working Temperature:

IERE

-30° Cto 100° C in Standard Construction
-15° Cto 150 ° C with FKM O-rings
-40 ° Cto 80° C with Silicone O-rings

¥R/E: -30° Cto 100° C
58 O BUIR: 15° Cto 150 ° C
1% B% O BUIR: -40 ° Ct0 80° C

Fr/fE: -30° Cto 100° C
5z O BUER: -15° Cto 150 ° C
FEMRBS O BU3f: -40° Cto80° C

4 To 6421 Nm

4 = 6421 Nm

Maximum Working pressure

BRARI/EEN

8 bar (116 psig). (Except JEH-045 at 10 bar)

8 bar (&7 JEH-045 2 10 bar)

Movement
{EENSEE

Rotation angle 90° + 5°

HEEEFE 90° £5°

JEK SPRING ACTING Ez1#&75

JEH DOUBLE ACTING M zh£7%1

02




P JDV
CONTROL
u VALVES

Technical Specification /R #3}

JEH-045
= 4 F‘A' =
24 1 | 5 {_| " R
| [F===% ——

mflf n & &
| TS| | @ | © | °

fd] Q@@ l
{} 25 _T' 25 E;
B — D - e
DIMENSION (M.M)
SIZE AlA [ Blc| Do |eE|F|1|R|os| SO |zL| Mmixvt |1s05211| @L1 | Mxv | @T | X | U

5211
JEH -045 | 100 76 |56 | 33 | 23 |9 |6 | 9 |125 FO3 36 M5X8 10




JEH/JEK-055 ~ 235

AlSpring Return Actuator )

A'(Double Acting Actuator |

Holes|hSx12

Gl 4" Di2Ey

1

-
=
5
I

DIMENSION

JEH/JEK Series

& Holes M5x7.5

15

LA EAA

'L _ jL [

130

JEH/JEK-055 163 145 96 76 48 | 34 9 6 9 125 FO03 36 M6X%X10 FO5 50 M5X 8 25 2 10
JEH/JEK-055 163 145 96 76 48 34 9 6 14 181 FO5 50 M6X10 35 3 12
JEH/JEK-055 163 145 96 76 48 | 34 9 6 14 181 F04 42 M5X10 35 3 12
JEH/JEK-065 195 158 115 91 56 45 9 6 14 181 F04 42 M5X10 35 3 12
JEH/JEK-065 195 158 115 91 56 = 45 9 6 14 181 FO5 50 M6X10 35 3 12
JEH/JEK-085 217 177 137 1M1 66 55 12 8 17 225 FO05 50 M8X16 FO7 70 M6x10 55 3 19
JEH/JEK-095 258 196 147 122 71 60 15 8 17 225 FO5 50 M8X16 FO7 70 M6X10 55 3 22
JEH/JEK-115 299 | 225 165 (1355 | 78 | 70 A 15 10 17 225 FO7 70 M10X16 F10 102 M8X16 55 3 23
JEH/JEK-125 3485 273 182 1525 86 80 16 12 22 285 FO7 70 M10x16 F10 102 M8X16 70 | 3 24
JEH/JEK-135 397 304 199 173 96 8 17 15 22 285 F10 102 M10X16 70 3 32
JEH/JEK-165 473 372 221 1915 106 98 15 15 27 36,5 F10 102 M12X20 F12 125 M10x17 85 3 39
JEH/JEK-185 560 439 249 2125 116 114 16 15 36 485 F10 102 M16X26 F14 140 M10X17 100 4 48
JEH/JEK-215 601 461 280 2425 131 130 16 15 36 485 F14 140 M16X26 100 4 50

04



05

\J

JDV
CONTROL
VALVES

JEH/JEK-265

Alspring Retumn Actuator]

i:Ht)lEISN\ElﬂZ ! |; ]l =l iD.INBS:J]
R i

= 1

4 Holos M5x8
____E__:/E—*:_;. g
G R
; e = \\ “p
 d N/ -
i [ 7 H
T a| |a] !
(S & —J
_EFF' — ‘1::_1‘ . —
130
200
240
' 1ISO 1ISO
SIZE A | A B | C D E |F| I R (@S 5211 gL M1XV1 5211 o L1 MxV oT U
JEH/JEK-265 | 738|518 | 383 |356|177,5|176,5|16| 15 | 46 |60,2| F16 165 M20 X 29 130 58
JEH/JEK-305 | 940|630 | 434 (415| 213 | 201 (16| 15| 55 |72,5| F16 165(M16X30| F25 254 M20X30| 200 60

e

i1



OPERATION TIME {EzhET(g]
AIR PRESSURE:6 bar-times:s(seconds)

JEH/JEK Series

Opening

11

15

15

30 40

80

120 180 230

280

300

Closing

10

15

22

40 50

90

150 200 260

310

350

Opening

12

20

27

32

50

70 90

220

230 280 330

380

430

Closing

18

29

40

50

85 110

260

280 320 370

420

500

DOUBLE ACTING TORQUE SHEET-JEH SERIES XNzl 3%

-

e L..__.n,. e

JEH-045 8 10 1 15 12 14 0.64
JEH-055 | 97 114 13 146 | 162 | 178 | 195 | 211 23 26 |- |- 14
JEH065 | 203 | 237 | 271 | 305 | 339 | 373 41 44 a7 54 | - | - 2.1
JEH-085 | 385 | 449 | 513 | 577 | 641 | 705 77 83 90 03 [ -] - 3
JEH095 | 591 | 689 | 787 | 886 | 984 | 1083 | 118 128 138 57 | - | - 338
JEH-115 | 88 102 117 131 146 161 175 190 205 24 | - | - 5.6
JEH-125 | 145 170 194 218 242 267 291 315 339 388 | -
JEH-135 | 217 253 289 325 361 397 433 469 505 577 | -
JEH-165 | 359 419 479 538 598 658 718 778 837 957 | -
JEH-185 | 519 606 692 779 865 952 | 1038 | 1125 | 1211 | 1384 | -
JEH-215 | 707 824 942 | 1060 | 1178 | 1205 | 1413 | 1531 | 1649 | 1884 | -
JEH-235 | 1086 1267 1448 1629 1810 1991 | 2172 | ‘2353 | 2534 2896 | -
JEH-265 | 1730 | 2019 | 2307 | 2596 | 2884 | 3172 | 3461 | 3749 | 4038 | 4614 | -
JEH-305 | 2408 | 2809 | 3210 | 3612 | 4013 | 4414 _;-"‘748'?6 | ls21r | Be18 | es2t | -

e 1 Nm = 886Lh1'1n '_TLE: '=u§ ; Kgm=9:-__"4h:lq1__:.

o Albdn= 0113ﬂm 18 = 145Psi 1 86:8:Lbdn.
[ _ l

[1 , N e
=, = o HE T
air " la.:am.....;'ﬁ . v B



07

\J

JDV
CONTROL
VALVES

SPRING RETURN TORQUE SHEET-JEK SERIES Bzl 1%

04 8/ 59 |7 |1 |8 [13][10|14 12|16 |13 |17 |15 |19 |17 |22 |20 | 4 7 1.51
JEK-055 | 06 M| 7 (12| 9 [14|10|15|12 |17 |13 |20 (17| 7 | 11 | 1.54
08 0|5 (12| 7 |14| 9 |15]|10 |18 |14 | 9 | 15 | 1.56
04 |16 | 14 | 20 | 17 |23 | 20 | 26 | 24 |30 | 27 | 33 | 30 | 37 | 34 | 40 | 37 | 43 | 41 | 50 | 47 | 5 8 217
06|14 |10 | 18 | 14 | 21 [ 17 |24 | 20 | 28 | 24 | 31 | 27 [ 34 | 30 | 38 |34 |41 |37 |48 (44| 7 | 12 | 2.20
08 15|10 [ 19 | 14 | 22 | 17 |26 | 20 | 29 |24 | 32| 27 | 36 | 30 | 39 | 34 |46 | 41 | 10| 16 | 2.23
JEK-065
10 20 | 14 | 24 [ 17 | 27 | 20 | 30 |24 | 34 | 27 | 37 |30 | 44 |37 | 12| 20 | 2.26
12 2113 (25 |17 | 28| 20|32 |24 |35 |27 |42 |34 | 15| 24 | 2.29
14 23|13 |26 (17 30|20 |33 |24 40|30 |17 | 28 | 2.32
04 | 31 |27 | 38|34 |44 |40 |50 | 46 |57 |53 |63 |59 |70 | 66 | 76 | 72 |82 | 78 |95 (91| 9 | 13 | 3.28
06 |27 | 21|34 |28 |40 |23 |47 |41 |53 |47 |59 |53 |66 |60|72|66|79|73|92|86 |13 | 20 | 3.36
08 37 |29 |43 |35 |49 |41 |56 |48 |62 |54 |69 |61 (75|67 |8 |80 |17 | 27 | 3.43
JEK-085
10 39 |29 |46 | 36 |52 |42 |59 |49 | 65|55 |71 |61|84|74|22| 33 | 3.51
12 42 |30 |48 |36 |55 |43 61|49 |68 |56 |81|69|26| 40 | 3.58
14 45 | 31|51 |37 |58 |44 |64 |50 |77 |63|30| 47 | 3.65
06|43 |36 |52 |46 |62 |56 |72 | 65|82 | 75|92 |85 [102| 95 | 111|105|121| 115|141 (134 | 19 | 27 | 4.40
08 47 | 38 | 57 | 48 | 67 |58 | 76 | 68 | 86 | 77 | 96 | 87 |106| 97 |116 (107 |135|127 | 26 | 36 | 4.50
JEK-095 | 10 51 |40 [ 61|50 | 71|60 |81 |70 |91 |80 |100| 89 |110| 99 [130[119| 32 | 45 | 4.60
12 56 | 42 | 65 |52 | 75 | 62 | 85 | 72 | 95 | 82 |105| 92 [124|111| 39 | 54 | 4.70
e 70 | 54 | 80 |64 | 89 | 74 | 99 | 84 | 119|103 | 45 | 64 | 4.80
06 | 61|49 |76 | 63 | 90 | 78 [105| 92 | 119|107 | 134 | 122 149|136 | 163 | 151|178 | 166|207 [195| 31 | 46 | 6.50
08 67 | 50 [ 81 | 65 | 96 | 79 | 111 | 94 |125[109 |140 | 123|154 | 138|169 |152 (198|182 | 42 | 61 | 6.70
JEK-115 | 10 72 | 52 | 87 | 66 |102| 81 | 116 | 96 [131|110 |146| 125|160 (139|189 (169 | 52 | 77 | 6.90
12 78 | 53 | 93 | 68 |107| 83 |122| 97 [137 [ 112|151 |126|180|156| 63 | 92 | 7.00
14 99 | 70 [113| 84 |128| 99 | 142|113 |172[143| 73 | 107 | 7.30
06 [102| 75 |126| 99 151|123 (175|148 | 199 | 172|223 | 196 | 247 | 220 | 272|245 | 296 | 269 | 344|317 | 51 | 83 | 9.65
08 112| 76 | 136|100 | 160 | 124 | 185|148 | 209 | 173|233 | 197 | 257 | 221 | 281 | 245|330 | 294 | 68 | 111 | 9.92
JEK-125 | 10 122| 76 |146|101(170| 125|194 [149 | 219 | 173|243 | 198 | 267 | 222 315|270 | 85 | 138 | 10.20
12 131| 77 | 156 | 101 180 | 126|204 | 150 | 228 [ 174 | 253 | 198 | 301 [ 247 | 102| 166 | 10.50
14 165|102 | 190 | 126|214 | 151|238 [ 175|287 | 223 | 119| 193 | 10.80




JEH/JEK Series

06 | 152|119 188 | 155|224 | 191 | 260 | 227 | 296 | 263 | 333 | 299 | 369 | 335 | 405 | 371 |441|407 | 513|480 | 76 | 115 13.33

08 |131| 86 | 167 (122|203 |158|239|194 | 275|231 |311|267 | 347|303 | 383|339 |419|375|492| 447 | 101 | 153 13.84

JEK-135| 10 181 (126|217 | 162|254 | 198 | 290 | 234 | 326 | 270 | 362 | 306 | 398 | 342 (470 | 414 | 126 | 192 14.35
12 196 129|232 | 165|268 |201|304 | 238 | 340|274 | 376|310 |449| 382 | 152 | 230 14.85

14 247 1169|283 | 205|319 | 241 | 355|277 | 427 | 349 | 177 | 268 15.36

06 | 260 |209|320|269 | 380|328 440|388 |500 |448 559|508 |619 (568 | 679|627 |739|687 858|807 | 116 | 177 19.70

08 | 227|159 287|218 | 347 | 278|407 | 338 | 467 | 398 | 526 | 458 | 586 | 518 | 646 | 577 | 706 | 637 | 826 | 757 | 155 | 236 20.30

JEK-165| 10 254|168 | 314 | 228|374 | 288 | 434 | 348|494 | 408 | 553 | 467 | 613|527 |673 | 587 | 793 | 707 | 193 | 295 20.90
12 341|238 401|298 | 461 | 358 | 521|417 | 580 | 477 | 640|537 | 760 | 657 | 232 | 353 21.60

14 428|307 | 488|367 | 547|427 |607 (487 | 727|607 | 271 | 412 22.20

06 | 373|289 460|376 | 546|462 | 633|549 | 720 | 635|806 | 722|893 | 808 | 979 | 895 |1066| 981 (12391154 | 171 | 271 30.10

08 325|213 411|299 |498 | 386 | 584 | 472 | 671|559 | 758 | 645|844 | 732 |931|818(1017| 905 (11901078 | 229 | 361 31.10

JEK-185| 10 |276 | 136|363 | 222|449 | 309 | 536 | 395 | 622 (482 | 709 | 569 | 795 | 655 | 882 | 742 | 969 | 828 (11421001 | 286 | 451 32.20
12 401|232 487 319|574 | 405|660 |492 | 747 | 578|833 665|920 | 7511093 924 | 343 | 541 33.20

14 525|329 612 415|698 | 502 | 785 | 588 | 871|675 |1044| 848 | 400 | 631 34.30

06 |477|349|595|466|712|584 830|702 |948 |820 1066|937 |1183[1055(1301|1173|1419[1291(1654/ 1526 | 270 | 421 39.30

08 | 400|229 518|347 |636 | 465|754 |582|871|700|989 818 (1107|936 |122511053/1342/1171|1578/ 1407 | 360 | 562 41.00

JEK-215| 10 441|228 599 | 345|677 |463 | 795|581 |912| 699 [1030| 816 |1148| 934 |1266105211501|1287| 451 | 702 42.70
12 600 (344 | 718|461 | 836 | 579 | 954 | 697 |1071| 815 [1189| 933 |1425| 1168 | 541 | 843 44.40

14 642|342 |759 460|877 |578 995|695 (1113|813 [1348/1049| 631 | 983 46.00

6 [702|509 883|690 (1064|871 [124511052/1426|1233/1607|1414|1788/1595(19691776[2150{1957]2512|2319| 384 | 577 44.60

8 |574|316|755|497 (936|678 |1117| 859 [1298/10401479/12211660(1402(1841|15832022(1764]2384{2126| 512 | 770 46.60

JEK-235| 10 627 | 305 | 808 | 486 | 989 | 667 [1170| 848 |1351|1029{1532(1210|1713|1391{1894(15722256/ 1934 | 640 | 962 48.60
12 861 4741042 655 |1223| 836 [1404/1017|15851198(1766/13792128/1741| 768 | 1154 | 50.60

14 914 | 463 1095 644 |1276| 825 |1457|1006/1638/11872000| 1549 | 896 | 1347 | 52.60

06 129911045/1587|1333|1876|1622/2164{1910[2453|21992741|2487|3029(27753318/3064(36063352/4283| 3929 | 508 | 806 85.90

08 [1155| 816 [1444(1105|1732/13932020/1682(2309|1970|25972258(2886/2547|3174(2835(3462(31244039|3700| 677 | 1075 | 89.40

JEK-265| 10 1300|876 |1588|1165|1877{14532165|1742[2453]20302742/2318[303012607|33192895[3895|3472| 846 | 1344 | 92.90
iz 1444) 936 [17331225[2021|1513[2310/1802(2598[2090[2886(2378(3175[2667|3752/ 3243 (1015 1613 | 96.40

14 1589|996 (1877|1285]2166(15732454|18612742[2150/3031[2438[3608/3015|1184| 1882 | 99.90

S06 |1763[12622165|1663(256620652967{2466/3369|2867(37703269 758 | 1348 | 158.70

S08 (1549|880 [1950{1282[23511683|2752/2084(3154(24853555[2887|3956|3288/4358(36894759/4091(5068|4399 |1011| 1797 | 164.70

JEK-305 [ S10 2136/1301(2538|170229392104(3340[2505(37422906/4143(3307/4544(37094853| 4017 |1264| 2246 | 170.80
S12 2323(1320[2724({172231252123|3527|2524(3928[29264329/3327/4638| 3636 1516 2696 | 176.90

S14 2911|1741(3312[2142|37132544{4115[2945{4423/ 3254 |1769| 3145 | 182.90

08




U

MATERIAL

JDV
CONTROL
VALVES

NO PART NAME MATERIAL

1 Body Aluminium Hard Anodized
2 Piston Aluminium

8 Pinion Nickel Plated Carbon Steel
4 End Caps Aluminium Epoxy Coated
5 *Soft Pinion Washer Polyamide PA6.6

6 *Slide Piston Polyamide PA6.6+30%G.F.
7 **Lug Nickel Plated Carbon Steel
8 Pinion Washer Stainless Steel

9 *Upper Pinion Bearing Polyamide PA6.6

10 Stop ASTMA.105

11 Leveling Screw Stainless Steel

12 Position Indicator Polyamide

13 Cam Polyamide

*Recommended spare parts
**Only for size 265&305

09

NO PART NAME MATERIAL

14 Centering Ring Nickel Plated Carbon Steel
15 *Slide Guide Polyamide Pa6.6+30%G.F.
16 *Lower Pinion Bearing Polyamide Pa6.6

17 **Stop Washer Pinion Stainless Steel

18 *O-Ring NBR

19 *O-Ring NBR

20 *O-Ring NBR

21 Bolt Stainless Steel

22 *O-Ring NBR

23 *O-Ring NBR

24 Washer Stainless Steel

25 *Slip Washer Stainless Steel

26 Nut Stainless Steel




MATERIAL

JEH/JEK Series

NO PART NAME MATERIAL
1 Body Aluminium Hard Anodized
2 Piston Aluminium
3 Pinion Nickel Plated Carbon Steel
4 End Caps Aluminium Epoxy Coated
5 *Soft Pinion Washer Polyamide Pa6.6
6 *Slide Piston Polyamide Pa6.6+30%G.F.
7 **Lug Nickel Plated Carbon Steel
8 Pinion Washer Stainless Steel
9 *Upper Pinion Bearing Polyamide Pa6.6
10 Stop ASTMA.105
11 Spring'S Long Support Polyamide Pa6.6
12 Spring'S Short Support Polyamide Pa6.6
13 Leveling Screw Stainless Steel
14 Bolt Stainless Steel
15 Spring DIN2076.D-5.6
16 Position Indicator Polyamide

NO PART NAME MATERIAL

17 Cam Polyamide

18 Centering Ring Nickel Plated Carbon Steel

19 *Slide Guide Polyamide Pa6.6+30%G.F.

20 *Lower Pinion Bearing Polyamide Pa6.6

21 **Stop Washer Pinion Stainless Steel

22 *O-Ring NBR

23 *O-Ring NBR

24 *O-Ring NBR

25 Bolt Stainless Steel

26 *O-Ring NBR

27 *O-Ring NBR

28 Washer Stainless Steel

29 *Slip Washer Stainless Steel

30 Nut Stainless Steel

31 Nut Stainless Steel
*Recommended spare parts
**Only for size 265&305

10




P JDV
CONTROL
u VALVES

JML Series manual override is characterized
by small size,light weight ,large output
torque,rational structuSre,easy to operate and
having reliably selflatching capacity.lt is suitable
to control the 90° rotary butterfly valve,ball valve,
cock valve and regulating valve,etc..

AEmESHRERSER. BT 90° FFERIER
8. BRI, heRBEFR]. A EER. HEX
. IRERMLHE, edE 03B 180°, BRILH
BEIRGLEIMS[EN; k2, KIMFH . =mARIIE,
ML S SR E. S TE.

11




JEH/JEK Series

TECHNICAL SPECIFICATION #zRZE#3

MATERIAL

N RS BRik
ik Bk o =4
R AT 45

AT 4 45 P2

JML-15 ~ 35

A ZRes

AXAT

M
Ly

18 6 20.8 70 4-M8 64x64 70 4-09
JML-15
22.2 8 255 70 4-M8 64x64 70 4-09
22.2 8 25.5 70 4-M8 100x70 70 4-09
Tl 32 10 35.5 70 4-M8 102 4-M10 | 100x100 70 4-09 102 4-212
38 10 41.3 102 4-M10 | 110x110 125 4-214
45 14 48.8 102 4-M10 | 130x130 140 4-018
36 10 39.3 102 4-M10 125 4-M12 | 110x110 102 4-D12 125 4-914
JML-25 48 14 51.8 102 4-M10 140 4-M16 | 130x130 140 4-018
60 18 64.4 140 4-M16 | 156x156 140 4-022
48 14 51.8 140 4-M16 135x156 | 140 4-018 165
JML-30
60 18 64.4 156 4-M20 156x156 | 165 4-D22
48 14 51.8 140 4-M16 135x156 140 4-018
JML-35
60 18 64.4 156 4-M20 156x156 165 4-022

12



JDV

| @ 2l CONTROL

VALVES

IMLAS 71 200 14x14 192 166 130 104 50.5
71 200 14x14 192 166 130 104 50.5
79 200 1717 195 191 156 125 65.5
7 200 22722 195 191 156 125 65.5
JML-20
82 250 2727 225 191 156 125 65.5
88 300 36*36 225 191 156 125 65.5
86 250 2727 233 234 200 175 85.5
JML-25 95 300 36*36 233 234 200 175 85.5
103 300 46*46 233 234 200 175 85.5
114 300 36*36 271 311 279 234 123
JML-30
114 400 46746 277 311 279 234 123
120 300 36*36 2365 363 322 276 141.6
JML-35
120 600 46*46 265 363 322 276 141.6

JML-15 26:1 60 300 ®200 6.7
60 550 ®200

JML-20 38:1 75 620 ®250 13
90 700 ®300
100 1000 ®250

JML-25 54:1 17
120 1200 ®300




JEH/JEK Series

JML-60 ~ 80

E
Pt
i
, — -__ -
’ i
N ]
[ f i,
e — I o
=4
A gy
ol
FETTATTIT
N H] 4
7000 55.1 16 59.3 100 300 254 8-M16*25
JML-60
75 20 79.9 120 300 254 8-M16*25
JML-80 18000 110 28 116.4 160 415 298 8-M20*30
1 —
v . : F -
- - "F- _—
e
F amy
r = | 254 8-018 468 135 4.5 152 244 | 81 | 500
i L , | |
-t = ’ ?IT-BO : = H == ¥ 5 1 3 |
—m— "} 1 HM e 254 8-018 - 3 | |9 . £
u' JML-80 350 298 8- ©22 646 616 566 230 570 278 89 700 A
3 5 I T [ S— i - a ’
| - e T s ’
o s - =
. L™ |
i[= g P . .
= | -] k !
| 3 4 Faryis ' .
! | -4
o g
s = =
em— . .
- o
' a
d + = :
— s
=
. 8



SEHEATWRBFIRAR

BEREEHNE 2 iRig29282-25

Tel:886-3-4203366 Fax:886-3-4202266 E-mail:webmaster@jdv.com.tw
http://www.jdv.com.tw

Eigi#tssHIR AR A E
EERITXHBISRHRE =& 2 %3585 41E
Tel:86-21-64296118 Fax:86-21-64297088 E-mail:webmaster@jdv.com.cn

JOV-IE @A ELL
IERHAARRE 9IS FTIAI 4512608

Tel:86-10-58208918 Fax:86-10-58208918*12 E-mail:eric.wu@jdv.com.cn

JDV-m &R I E AL
BT 4R T X AR AR 73T A58 72202
Tel:86-28-84191701 Fax:86-28-84191701*602 E-mail:mojianjun@jdv.com.cn




